anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Tesh

O F\.‘\a\}\j S\ogo.: M= Y o« m=Nase
Xa,x\ Tun

® Trcallel: (Same Slo‘x\ S owm=y ol - L
?Q( eend\C\.\\o\\' (O‘:@osx\ﬁ Q\eugocc\\s) 22 mM= 15 ml - _?_

@ Fﬁl\‘\(sll‘ﬂj \‘\
0, 9= mX +/_&_)ﬂ m= epe b= \\j—-lr\Jrcrca(A'

® Groghng. © Aol fha gkt (6)
@ USQ 3cm( \6\0‘;2 (ﬂ\c {I:S‘:) J\'o P\olf
0'\“0( inlsy . ]
QToin J(\P: Po'\‘%\s \oe\\\ a §\r4\\r))\‘\ e,

® Word ?co\>\2ms'-
b: basq (<§\<)‘S\R\ (A"-,-Sﬂxe& gec elf('

"\ = aer \')Gh( K \Qw\ y B 9\8\’0 et
(3':: h'\’("(\)

Dec 15-10:41 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Dec 15-10:55 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Dec 15-10:56 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Dec 15-10:57 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Dec 15-10:57 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

Dec 15-10:58 AM



anwers_to_slope_review_and_review_slope.notebook December 02, 2019

- ¢y terpendilulal o [O‘P—E wj:....
ine runs a T-shitt company. For each order she receives, Francine charges a flat fee of $50, plus

4 'DrSOmg

- Write an equation for the total cost, C dollars, for ordering » T-shirts. - |
~ b) George ordered 62 T-shirts, What was the total cost?
s c'j Jake paid a total cost of 3971.85. How many T-shirts did he order?
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Slope Review

Determine the slope of this line segment.
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Determine the slope of the line that passes through (9,11} and {15, 27).
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The slopes of two lines are% and-11/6 . Are the two lines 1mralie1 or neither?
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4w lines are =2 and -1/2. Are the two lines parallel, perpendicular, @
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a) The slope parallel to the x-axis is
) The slope perpendicular to the x-axis is
¢) The slope of 3 yertical lineis __ v = :._L eTung

d) Theslopeofa horizontal line is _ o=
e} The perpendmuharsﬁnpe toSis = = __[3_ 188

this equation: 2-2y=0 b)
Determine the slope and the y-intercept for the graph of this equation: 16x + 32 -2y =0 (y=mx*
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8 TFindthevaleof K, (K, -Tpand (1, 12) m= 197,
L= E‘_*l ad = 1
s 0D |
B A | =6
L v=5

9. Determine the slope parallel to 3( 2y - 1}= 12 +3
Ay | =1 m=2
ab-_ H + 2 mil=2 pota
y = 34\ Fhe <ane

i0.  Dheterming the slope perpendicular o 3y -4 = 8x + 5
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A Line prasses Wsailgh Rk, 9 ond Ki-6, 15)
uh What is the slope of line RET
Ll What is the paraliel slope?

Wit is the perpendicular slope”
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